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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATHON, ¥YOU SHOULD
CHECK THAT THIS TEST BOOELET IMMES NOT HAVE ANY UNPRINTED OR TOEN
OR MISSTHNG PAGES OR ITEMS ETC. IF 50, GET IT REFLACED BY A COMPLETE
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ul the spprupriate places in the OMR Answer Sheet. Any omission/discrepancy will
render the Amswer Sheet linble for rejection,

You have 1o enter vour Roll Numbsr on the Test ]

Booklet 11 the Box provided alongside. DO NOT wnite
arything efse oo the Test Booklet

This Test Poaklet containg 128 items (questions). Bach item cormprises four responses {answers).
You will select the response which you want to mark on the Answer Sheet. In case you el
that there is more than one correct response, mark ihe response which you consider the best.
In any case, choose ONLY ONE response for each item. :
You have to mark all your responzes GNLY on the separate Answer Sheet provided. Sec
directions m the Answer Sheet.

All nermns carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have 1o [ill in some particulars in the Answer Sheel as per wnstruchions sent
o you with your Admissian Certificale.

After you have compleied filling in all your responses on the Answer Xheet and the
examination has concluded, you should hand over to the Invigilator endy the Answer Sheet.
You are permitted 10 take away with you the Test Bookler

Sheews for rough work are appended in the Test Booklet al the ond.

Pepelty for wrong answers |

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE
IN THE ORJECTIVE TYPE QUESTION PAPERS,

(i} Ther: ate fomr altemalives for the answer to every question. For each question for
which o WO answer has been given by the candidate, poe-third of the ma.rlr.s assigned
e that question will be deducied as penalty,

{11 1f a candidate gives more than one answer, it will be treated as a2 wrong answer even
if one of the given answers happens to be correct and there will be same penalty as
ahove 10 that question,

(iiip If a question is left blank, i.e, no answer is given by (he candidale, (here wifl be
ne penalty for that question.
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SPOTTING ERRORS

Directions: Each item in this section has & sentence with three underlioed parts labelled {a}, (b} and
(). Read each sentence 10 find out whether there is iy etror in any underlined part and indicate your
response in the Answer Sheet against the corresponding letter i.c., (1) or (b) of (). If you find no ervor,
your response should be indicated as (d).

1. Ofalithoseinvolved  with the accident  pote was seriously jpjured. Mo error
(@) (b} (=) (d)
2. Radar sspgpmstits thatisto be used  for ships must be installed carefully.  [Mo error
{a) {B) {c) {d)
1. Mew types ol electrical circuits hac been develapsd by our enginesrs. o elrmr
{a} {b) () (d)
4. PRecendy | visited Kaghmir  and found the seeneries o be marvellons. Mo emgr
{a) (b (c} (d)
5. Itisof prigary jpportance in gwimming toleamn {0 breathe properly. Mo error
{8} (h) (c) {d)
&  When the papty was over,  he looked ground for the girl  who had come with i, [N grfor
(2} (b} (] ()
7. Afler we were drivigg for miles  on the wipding toad | was sudden]y 5ick. Mo error
{a) (k) {<) (d)
§.  The forecast was for fair  and warm weather  aod the day dawned dark apd chill. Mo emrgr
(a) {b} i) (d}
G To wrje 0 speak or to 3ct ] =) | b very easy. = [Noepow
(a} {b) (G} {d}
10, ih tea since lwgdayy Mo eror
(@) (b} (] (d)
1. Beside  his meiher by bas two aunts who stay :-.-jm him. Mo emor
&) (b} {c) {d)
12. This photograph appearstobe  the bost of the two. Mo emor
(2] (b) {e) {d)
2 _ ' (Contd.)




13.  Either the operator or the foreman are 1o blame for the accident.  No emror

{a} {B) () (d}
14. Thearticle offers  good adviceto  whomever must aecepty],  No grror
BERC (t) i) (@
15. Shedislikes  you being mostorpanized  thansheis. Noerror
{a) (k) () {dl}
SELECTING WORDS

Direcsions: In the following passage at certain points you are given a choice of three wonds marked
fa), (b} and {2), ane of which fits the meaning of the passage. Chaose the best word om of the three,
Mark the letter, viz., {2}, (b} or {c}, relatirg to (his word on your Answer Sheet. Examples K and L have

Been salved for you.
K. L

The (2} boy was in the school in Simla. {a) She  was homesick.
) horse © b}k
¢} dog {¢} He

Explagatian: Oul of the list given in item K, only 'boy' 15 (e Gotrect answer because usually, & boy,
and nol a horae or a dog, atiends sehaal, So Va) is to be marked on the Answer Sheet for item K_A boy
is wsually referred to as 'he’, so foritem L, e} is the comext wnywer. Notice that 1o solve the first item
K you have Lo read the rsst of (he sentence and then see what fits besl,

Passage-1
16. IR
"What {2} can  happen i them after ua? This nost (a} joyous question continwafly tomenits the
¥ will . {b) distressing
{c) must {c} distracting
13, 19
parents of these  {a) unethical  children. So they are mainly interested in {a} providing
{b} unnatral (b} making
{¢) wnfonunate (¢) giving
20.
some kind of yoeational training Tor them. {a) But  special schools for such children,
(b} Yet
(€] Hence

3 {Contd.}




21. 22
spread all () above  the world, lay emphasis on vorational training. {a) Howcever.

(b} under (b Accordingly,
(£] over : {c) Eimilarly,
: 23
they are taught 1o make paper bags, (a) dubious  wall hangings etc. This, of course,
(kY simple
fc} elumsy
24, 23,
is quitc  (a) agreeable  and admirable, But what about play and (a} sport?
(b} astate {b} game?
fc) additional {£} grounds?
Prasags: - 2
Gialilea used mathematical calculation as well as pbservation of nature and was the first astrenomer [o
24,

wse & telescope. With an instrament of his own (a) experiment,  Galileo observed Jupiter
fb) constouction,

{¢) calewdation,

27. 28,
and four of {a) (he moong, the phases of Yenus and the spots on the sun. His (a} obscrving
{b} their {b} obzervations
{€) its . {¢) observed
: ' ' 2%,
and caleulations confirmed that Copemnicus and Kepler were right- He saw {2} by his own eyes
(b frum
: tct with
30, 3.
and made other peaple (a) o see (o that the eanth was not the fixed center of (a) an  universe
(b} see (b} 2
(¢} FeCing {ey the
£y
as Molemy had said, Galileo {#) insi=ad  made some imponant discoveries in mechanics. He did not
(b} also
{c} therefore
! _ 4 {Contd.) -
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33. 34,
(2} as legend savs  drop cannon balls from the Leaning Tower of Pisa (a) having proved  that all
() as stories say (b) proving
{c) as people say {€) to prove
35. 36,
bodics fall at the (a) same  spesd, but he did roll bafls {a) downside  aslope to show that
{b) equal {b) down over
{c) similar {c] dowm
Ky 38,
the (a) mack & body falls is proportionate (a) 0 the squarc of the time it takes to fall. Galileo
(k) distancc (b} of '
() path {e} with
349, 40,
also oticed the repular {a) swings  of the lamps in Pisa Cothedral; {a) these  gave him the idea of
{b) singing B this
fc) swaving {c) those

" the pendtlum, a device that enabled him to make the elock a scientific inytrument for the first time.

SENTENCE IMPROVEMENT
Directions: Look at the underlined part of each sentence, Pelow each sentence are given three possible
substitutions for the underlined part. 1F one of dhem {a), {iv) or (€} is better than the vndeclined part,
indicate your response on the Angwer %heet against the corresponding letier (a), (k) or {c). If none of
the substitutions impraves the sentence, indicate (d) as your response on the Answer Sheet. Thus a
"o jmprovement” responsc will be signified by the letter (d).

41, It's wen o'clock alecady. It's high rime 43, Owr plans for the trip Bl dowy because we

v went home. had o money.
fa) you had gons {a) oif

(b you were guing {t) Dut

) you bad been _ () through

{‘_i] N Improvement (d} Mo Improvement

42, The students are playing volley-ball since
8 AM,

{a) were playing
by  have playing

44, None ofthese groups has teported accurately
on the prevailing situation.
{2) have reported

{c} have been playing (b} was reported

(d} No Improvement {<) has reporiing
(dl Mo lmproverment

5 {(Contd_)




45,

A —

47,

48.

49,

Among the ziblstes undergoing lraining
Ramesh was easily the better.

{a) best

{b} beter

(c) the best

(d} Mo improvement

. The carth moves round the suon, {5307 07

f2) wasno't it?
(b) hasn't it?
(o] doesn't it?

() Noimprovenent

Supposing 1f he 15 amested what will te do ?
(a) if he will be amested

fB) be iz amested

fed it he was arrested

(d) Mo Improvenent

by students have been interasting in
learming French.

(2} have been intecested
¥ are being inlereshng
(c) have als: inleresung
(4} Noimprovement

Hardly | hed {allen asleep, when the bl
rang,

fa} I was fallen

(b1 had | fallen

+fct [ fell asleep

{d] Mo inproverient

20, These days, Radha finds it difficult to makce

brath het ends ment.

{a) bothends meel
(b} both the ends meet
{c) enda meet

{d} No Improvement

sl

My mother always asks us to close the fan

when we leave the room.
(2) onthe fan

(bt} off the fans

(c) tum off the fan

(d} No lmprovetent

52. If she does ntot get more high salary, she wil]

53,

a4,

a3,

csign.
fa) more higher salary
(4} hixh salenes

fc)  a higher salary

(d} No lmprovement

The parents showld not discriminate from
the girl cluld,

{a) discriminate betwocn

(b}  diseriminate against
{¢) discrinninate at

(d) ™o Improvement

Shakespeare's play 'Wacheth' is another of
his greatesl works.

{a) one ol his greatss

{b} best of his greatest

{¢) preatest of his

{) Mo Imprvemand

Some schools reqaire chaldren to wear hjack
leather eypengive shoes

{a) hlack expensive leather shoes
{bY expensive leather hlack shoes
{£) cupensive biack teather shocs
{dy Mo Improvement

{Cond.)




56.

57,

58,

a4,

&L,

It is a good thing for hing should recognice

hiz faults.

{a) ihat he to recognise his faelts
{b} him recognizing his faults

() for him o recognize his fauls

fd) ™o improvement

Some boys speak their mother-longue

among one another
{a) hetween them

(b} among themselves
(c} wath them
id] Mo Improvement

Prior thag wking any decisions he always
consulls his lawver.

(a] Poorw

ib] Previous to

{c) Proras

[y ™o Improvement

He does not know what jhe university is.
{a} an

b} =

(s} o

(dy Mo Improvemeam

The Prime Minizter called og (he President.
a) by

bt} in

() 1o

(dy WMo Imprrvemant

al.

62,

61

.

f15.

No sooner did we reach the railway station
when it began to rain.

{a) than

{b) and

e} whils

{d) Mo lmprovement

Weall-bred children always ligtep to their
parents’ advice,

{a) heoar fa

(b agree

{c} obey

{d} Ma lmprovement

We had not met sinca then, neither did 1wish

12 meet hilm now,

fa} mnever did [ wish
ik} nor did I wish
{cy did not 1 wish

{d} No lmprovemend

Ewven she had taken a taxi, she would have
been Jate.

{a} Ewenifshe had

{k} Altheugh she had

() Asifshe had

(d} No Improvement

He felt sure of his success. though he was
beginning to gel warried,

{ay his succecd

(b} his sugeesses

) heing succeaded

ey Mo lmprovement

{Contd.}




COMPREHENSION
Directions: In (his section thete are four shoct passages. After eacl passage, you will find some questions
hased on the passage. First, read a passage and answer the questions based o il You ar¢ required 1o
select your ancwers based on the contents of the passage and opinion of the author only.
Passape-1

Much rhapsodical nonsense has been writien about the "Mona Lisa”™ and her enigmatic smile, and
there have been endless spaculations as to her character and (he meaning of her expression. It is alt
beside the mark. The truth is thal the "hona Lisa” is a study of modeling. Leonardo da Vieci had
discovered that the expression of smiling is much more a metter of modeling af the cheek and of the
forms below the ¢ye than of the change in the line of the lips. It interested him to produce a smile
wholly by these delicate changes of surfaee; henee the myslenous expression,

66, The word rhapsodical asused in the passage 6% ;fnf;g]ﬁj:'ﬂ:&'ﬂsE‘;;;;ﬂﬂf‘“ﬂ”mﬂ“

E:fmmn {a) delicate changes on the sucface of
)] Enreadable cheeks below the eyes

o {b} using bright colours
[3} ﬁ::]:.ui:?ﬁc {¢) using & painting knile
{d) o {d} Incr}:ing quqstantly al 8 smiling model
67. "Mona Lisa” is (he neme of while painting
(a) @ beawttful women who made bistory 4

rcient Rome . The author of the.above passage has

evamined 'Mona Lizsa' from

(b) a famous painting _ {ay an jdealistic angle
(c) the artizt's nlnstr-::ss {b} an imaginary point of view
fdy an art technique (¢} a purcly artistic angle
68. The truth shout the "Mona Lise" is that it is td) 2 scientific and realistic standpaint
a study in

(2] femiming pswchology

(h] fagial expression

e ferminine form

(d) modeling )
' Fassape-1]
It is possible to give wedding presents, hirthday and Chrisimas presents, without any thought of atfection
at all, they cam be ardered by pastcard; buot the unbirthday present demands the nicest care, 1 s
therefore the best of all, and i is the only kind 1o which the golden rule of present-giving imperatively
applies - the gelden rule whick nsisis that you must never give to anclher person anyvthing thatl you
would not cather keep: nothing that does not cost you a pang (o part from. It would be better i thus mle
wovemed the choice wlsa of thase other three varieties of gifls, but they can be less exacting.

71. The author says that wedding, binhday and 72, *They can be ordercd by posteard” means that

Chrstmas presents fa) ithe present may only be 3 pasicard

() are always indicators of the givers (b) the present would be an expensive
affection one

th) may nat always he given with any €] the choise dues not involve much
thought of affection T

(¢} ars mven ooly to Natter the recipient (] the present woold not be worlh giving

{d) are given only o fulfil an obligation
- {Comid.}




T3,

74,

The 'unhirthday' present 15 the best of all
because

{a} it cannot be ordered by postcard

(b} it means giving expensive presents

(c} itz choice needs the utmosl care

{d) other occasions are bhetter than
barthdays for piving presents

A 'golden reie” 15 a nule whach
{a) brings profit

(b) = very important

(c] 1z very difficudt

{it) is very easy

5.

Fasaage-111

The writer 15 ol the view thal ome showold
v a present that

(a) onc wonld hle 10 possess aneseE!d
(v} ooc would bl w0 gert nd of

{c) cannot be ordered by mail

{d} 1z highly expensive and aitractive

People project their mental processes into their handwriting. They subconsciously shape and arganise
their lepers, words and lines in ways that directly reflect their personalities. This explains why no twi
handwritings are - or even can be - afike: the medium is just wo personal, Evervday observation

* confirms the link between handwriting and personality, 2t least in an elementary way. Precise people

construct their words with care, slowly amd exactly, dynamic people dash them off. Flamboyant people
boldly cover half a page with a fow words and a signature, whose aize fittinply reflects their expansive
sense of self, Mozt of us have made such obseryations. But it takes a8 practiced eye to discemn the scorcs

- of varjations and interpret the subtfe inerplay of faees 3 work 0 any given hamdwntiog, In face i

Europre, handwriting analysis known as gtaphelogy, sow epjoys sciehtific atcemance and conimon use,

Jo.

T

e

If you are a showy and colourful person,
vaur handwriting is likety to be

{£) nigat and slow

(b} dashing wnd carcless

(¢ birld and Junge

{d} legikle hul small

Graphalopy is

{a) the study of graphs

it} the analysiz of handwriting

{c]- aspecial branch of phonetics

(d} apraphical description of handwriting

Handwnting enalysis is
{a) not wsefu] to v

(k) an glemenary stsdy
{£) amimprecise scienee

(d) ameans of studying personaliy

79,

g0.

According (& the author, people sre;

{7] not conscieus of what they wmite

{by aggressive in the nature of their wiiting
{£] not conscious of the way they write

{d) nol used 10 personal wnting

The fact that handwriting 19 related 1o

personality

{aj) has been noticed by most people

{b) iz appreciated by dynamic pecple

{£) 15 restricted to persons who write
carefully

{d} s known only 10 grapheiopists:

(Contd.}




FPussage-[V

The simplest method of welding two pieces of metal together is known as pressure welding. The ends -
of metal are heated 1o 2 white heat — for iron, the welding temperature should be about 1300°C — in
a flame. At this temperature the metal becomes plastic. The ends are then pressed or hammered iogether,
and the juint is smoathed off. Care must be taket W ensure that the surfaces are thoroughly clean first,
for dirt wilt weaken the weld. Moreover. the heating of iron or steel to a high (emperature cause
onidarion, and a film of oxide is formed on the heated surfaces, For this teason, 2 flux is applied 10 1he
heated metal, At welding heat, the flux melts, and the oxide particles are dissolved in it logether with
any ather impurities which may be present. The metal surfaces are pressed together, and the fux is
squeszed oul from the centre of the weld. A number of different types of weld may be used, but for
fairly thick bars of metals, 2 vee-shaped weld should normally be employed. 1t is rather stronger than
e ordinary butt weld.

51,

5.

Bl

The simplest way of welding Iwo pieces of
medal lgethet is

fa} heating (he menal
(b) holding i in a flame
(¢} coating the meial with plastic

{d) harnmenng heated pieces

U'nless the surfaces are cloaned fitst
{a) the metal will not take white heat
(b} the resulting weld wall be weak
{<) the joml wall be rough

(d) the metal will be less plastic

When itot is heated to about 1300 degres
eenbi e

{a) flames mm from white o blos:

(B} chemical peaction stants

) oxide film iz found on its surfaces
{d] it wrns into sieel

(a)

(b)
{}
{d}

(a}
fh)
(c}

{d}

4. The flux iz wsed Lo

make the metal plastic

cool the heated melal

cover up any dirt

. For fairly thick bars of metals

dissolve oxide and ather impuritics

a vec shaped weld should be used
ordinary butt weld should be used
a number of different types of weld may

be wsed

a pressur: weld may be used

{Contd )




SYNONYMS

Directions: Each ilem in this section consists of a sentence with an underlined word followed
by four words or group of words. Select the word or group of words that is most similar in
meaning ko the underlined word.

34,

87

ER.

8,

All {hese items have boen marked down,
fal  reserved )

b packed up

(©) reduced in price

{d) emlered

How :-::a.n you have the effrontery to ask for
another foan?

{a) nght
(b} impadence

(e} hear

{d} courage

There was a devastating altack on his work.
(a} temble

k] casual

e} wnethical

() motivated

The committee conducted an exhaustive
Lrequipy.

(a} time-consuming

{h) complicancd

c) renswed

@} thomugh

He is jusi laying wp 2 lot of trouble for
hamself,

{a) cleanng
(b} accurmulaling
() accepting
(d} removing

91.

9%

24,

3.

He fought the dernon with all his might.
(a} hcaviness

(b} strength

(c} density

{d) populanty

. Devotzes haligve that Cind dwells in their

teart.

@) hwves
(B} insisis
(c)  travels
{d) emers

Wat everyome con respond to 2 difftcult
questian quickly.

(2) discuss

(b} argue .

() answer

(d} deny

The sage did not want 10 be bothersd with
niundane concems.

(a} worldly
{h meaningless
{c] trivial

{d) supcrfluous

Mountaineering in bad weather is
dangerons.

{a} threatening

(b} shaky

ic) prolous

{d) slippery

(Contd.)
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06, Stellar greupings tend to be unlimiled. 98, He wag not ready with his annual accounts,

{a) lengthy {ay yearly

(b) heavenly (b} important
fel huge (¢} monthly
(dy  infinite {d) pecrmansnt

97 Oine who rules with unlimited power is 9. Society cannot depend upon a fanaug for

called a dicigtor, guidance,

{a) anarchist fa) optimist

(b)  aulocr fh)  marlyT
i (c} Egol

(c} cmoist

b {d) anarchist

(d} sychophant
100, A busy person cannot waste his [ime on
trivial issues.
{a} . unimportant
(b} rude
{¢) crude
{4} Lrikal

ANTONYMS
Directions: Each iletn ik this seetion consists of 3 sentence with an unwerlined word fullowed by four
words or group of words. Select the word or group of words that is most nearly opposite in meaning,
the underlined word.

101. The officer exaggerated the damage caused 103. His officer was a very stict porson.

by the rowdics. fa} pleasant

{a] underwroie (bl open hearted
{b) condemned (¢} lenient

(e} ignoted {dy indifferent

{dy undercstimated
1. Servitude is mot helpful for mental growdh.

142, ‘The speaker was unable to pacify the crowd. fa) Disservice
() excite (b} Relivarent
(h) antagonize {c) Freedom
(c) threaten {d} Terminetion

(d] challenge

12 . {Contd.)




105, His allitude to poor people is deplomble.
{a) commendable
{h} miserable
(¢} equilable
{d} desirable

106. The guest made derogalory remarks about
the food he was served, |

(a) interestiog

() complimentary
{c] unnccessary
{d] cheerful

107, He has an avecsion o milk.
fa) dear
fb) loving
(2] liking
() pet

108, The paucity of good teachets is the chief

reason for the present candition of these
schaals.

{a) presence

{b} surplus

{c) appointment
{d} retention

104, Bon't you (hink his account of (hings was

M OLONgg?
{2} agrecable
ib] accepiable
(e} wvaned

(d)  imdlecend

110, Spurjons drogs can prove to be Fatal,

fa)  WYhartuows

(01 Inderior

(¢] Genuine

{d} Contemptuous

FILL IN THE BLANKS

Birvections: Tach of the fullowing sentences has a blank space and four words are given below it
Select the word you consider most appropnate for the blank space and indicate your cheice on the

Answer Sheat,

111, Wemustnot ___ the real and ingportant
advances science has made,
{a) oppose
{b} Qquestion
(c) ignore
{d] doubr

112, These trousers are 100 long, _ the

lengih pleass.
() dimimish
(b} lessen
(€} curtail

- ) reduce
L3

113. "What did you think of the Qlm? " .

1 didmt like it very much.”
{a) To be honest

{t} Bcing honest

() Tobe fair

{d) In honesty

114 He in s schoed since 20040,

(2} smdied

(b) was studying
(c} has been stndvipg
(d) had studied

(Contd. )
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115,

116.

117.

"His parents died when hg was young.”
"| think that's why he has problems.”

i)
{b}
{c)
(d)

ton HVARY
S0 many
any more
much morc

_ ifheis willing to fit in with the plans
of the group.

{a) There is no objection to him jonng
the parly

There 15 no objection on s joining the
party

There is no objection to his joining the
parly

Thete was no objection for his joining
the party

{b)
(c)

d]

Having secured the highest marks in the
class, o
{é} the college had affercd him a
scholarship '

he was offered a scholarship by the
college

a scholarship was offered him by the
collage

(b}

(¢}

()

a college scholarship had been offered
12 him

14

118.

119,

120,

After th:].r. lunch, the boys tan
outside,

{a) have edten
{b) had eaten
(e}  were eating

fd) would eat

Ashewas  and had saved enough
moncy, his family escaped misery when he
died suddenly.

{a) prudent

(b} preparatory

(c} persistent

{d} providential

Some mysleres remain in desett research -
especialiy relating to why some regions,
once feriile, wrenow

(a) blossoming

{b} cultivahls

{c) barmcn

(d) irrigated
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